OMmRON
©E39-E20

2 E3ASHF F RIEREEH/ \—
iV ERELEE

OV AMRESEV PO leEE LT RTLichY

DESTEVET,

TREABIEL UL RORBZE HBFITEEL,

+ COEURHBEE KBTIV T RICTEBDSAE
LA EL,

+ ZORRFHAEIEVDOTHLBRTERLOATIREL TS
fEEW,

O ANTNIRRRO R

© OMRON Corporation 2024 All Rights Reserved.

Z2LEDER

KUTeT I HERRLZHRY 5OATRBRBEIETTDTHT FoCIEE

(1) RLCOFEDMNIF M LT IS TEROMDHT b IV EER THEDNTIFT
SEEVAEDIT MILIDRENERIVZ R EDRIEDRR LY
FIE e NEVE IR HREEICLBHEDRALSZVET,
M3:  0.4~0.5N-m

(2) RNy BIZ EDRYMTETHFEHHL LIS EIEARREIMRL

TR
fEALDIE

(1) FERDRBEHA CIIMERLEWVNTLIZELY,
QELiI=b iy ks
BREDHZAD L DI
CAMEICE R RE PEEMED DI
IKPE LG EDREDD DB
ENREBZSEETESPRE
(2)fHBDACle TR ZRIEL TLTEEL
(3) LV IEUTRLDREICTERELSLEE W BIERED N\ —ETFHY
BEREEDBIET,
(4) EALTV2ENZH T BBREEMMBRRIICH S TRELTLEL,

WEMRERE
{EFRAERE —30~+55C
REAFERE —40~+70°C
#RE (THAR) 10~55Hz #4RIE1.5mm  X,Y,Z&A®E 2h
BHE (fR) 500m/s? X,Y.Z&A5mE 3[E
e HIN—FL—:SUS304, H/\—L X :PC
BRI Y E3AS-HF
B BIERC M3X7 (IN\RER FESM) 8 SUS B2
Y Mal M3X35 (U \RER, FRES) #E:SUS. {852
b A8 SUS (B8

JE BAS-HFRI770—1Z v ME3-E17)EEHATEE A,

WEWHI A&

1. AREH/N\—ERE3AS-HFICERUAHIE T,
REHN—FE T DEEESSOEICBEY DIFSNET,
EC HIS—

Bt
(M3x7)

®%
v Mal(M3x35) ZG G/

2. FZE3AS-HFDEAMIC Y A& OIREH/N—ZREFL R LLES
LTLrEELy,

@

CAHRER

LERIE, — M TERRETOABREL THEHESNTOET RVELTORIC

B ERTOERERRLTHST. SEHN UHERENSDARICERSh AR

(213, Yt F S H BRI T—PRIEV L ER Ao 7L RICIBIT BRE TH-T

HYUHOBREL AT EERARDHE IR DS BRI HZHEIBREET,

(a) BLWREMNDEESNDAE (BIRF ARG, MR R M2 FHERRE LR
fi, AR MR R R, ERRS. TL2RE. ZOMES FEICERI RUHEAE)

(b) &L DB (AR KE BREDHHES X7 L, 24k ERE SR
DRT L GRIED AT LENHER- B EEEURO R R )

(c) BLLWEA - RECORE (BN RE T D41k, (LB REW DI,
BHOBEEWH D, RE)- TRERIBRMHEE)

(d) HEOTEICEHOBVEEPRETORR

H@s(d)CRMEN TV B A2 S RUOERBETHE (CREST, UTH
L)ETikHNEL A BENEICHEE T AR ICEFIALLVWTT S, BBEES
BRI OV TIEEE B L CTABHE,

* LRIGEE AROREND—ETT, YO EEHZOT,
DHEAT R=2TUEHORIL - R HBEOATELGR

ALOHHRER 1242 UPLA— R 2= EYZRDINZ—

OHZICRETIBMVEhEE

I52:0120-919-066

mumEose. W 055-982-5015 mx) ezfimcsan,
Z4F85RT © 9:00~17:00(+-H-12/31~1/3%k<)

& FLAVFAIA1 I F+yb
www.fa.omron.co.jp/contact/tech/chat/
FHRHBICF v CHEREVADRVELEITET, (-Webx> /- XFRTE)
W5 {857:9:00~17:00(12:00~13:008<)
WE%R:¥A
R, EEAEE RO REMN TEVET,
JHERIE) TR ETHEEE N,
@ZTDMDEENEDYE
WY - - P T EREERROBMEI%, EAARMELA LAOVREEICT

MRSV, F LD HIEREBIRTEEP 4 LDV RFEHRSIE. WebX—F TIRAL
TVET,




OMmRON
model E39-E20

Front Protection Cover for Model E3AS-HF

INSTRUCTION SHEET

Thank you for selecting OMRON product. This sheet
primarily describes precautions

Before operating the product, read the sheet thoroughly to
acquire sufficient

knowledge of the product. For your convenience, keep the
sheet at your disposal.

*3669745-2A%

© OMRON Corporation 2024 All Rights Reserved.

Precautions for Safe Use

Please observe the following precautions for safe use of the products.

(1) Tighten the screws within the following tightening torque range.If
the tightening torque is too large, the holder may be damaged. If
it is too small, the holder may come off due to vibration or impact.
M3:0.4t0 0.5 N-m

(2)If the optical surface deteriorates due to foreign matter such as
spatter, replace the product.

| Precautions for Correct Use

(1) Do not use the product under the following conditions.
«In the place exposed to the direct sunlight.
«In the place where corrosive gas exists.
«In the place where vibration or shock is directly transmitted to the product.
«In the place exposed to liquids such as water and chemicals
«In an ambient atmosphere or environment that exceeds the ratings.
(2) Use the supplied screws for installation.
(3) Note the length of the sensor mounting screw. It may interfere
with the front protective cover.
(4) Dispose in accordance with the applicable waste disposal
regulations of the country of use.

M Ratings and Specifications

Ambient temperature (Operating) -30to 55°C

Ambient temperature (Storage) -40to0 70°C

Vibration resistance 10t0 55 Hz, 1.5-mm double amplitude for 2 hours

eachin X, Y and Z directions

Shock resistance 500 m/s? 3 times each in X, Y and Z directions
Material Cover, Plate: SUS304, cover lens: PC
Applicable sensor E3AS-HF
Accessory Fixing screw M3 x 7 (with spring and plain washers)

Material: SUS, Quantity: 2

Set screw M3 x 35 (with spring and plain washers)
Material: SUS, Quantity: 2

Plate nut
Material: SUS, Quantity: 1

Note. Air Blow Unit for E3AS-HF (E39-E17) cannot be used together with this product.

Hinstallation

1. Attach the protective cover to the E3AS-HF.
The protective cover can be attached to either side of the sensor.

Plate

Fixing
screws
(M3x7)

Set screw (M3x35)

2. Hold and screw the protective cover against the E3AS-HF
reference plane.

Reference plane

Suitability for Use

Omron Companies shall not be responsible for conformity with any standards,
codes or regulations which apply to the combination of the Product in the
Buyer’s application or use of the Product. At Buyer’s request, Omron will
provide applicable third party certification documents identifying ratings and
limitations of use which apply to the Product. This information by itself is not
sufficient for a complete determination of the suitability of the Product in
combination with the end product, machine, system, or other application or
use. Buyer shall be solely responsible for determining appropriateness of the
particular Product with respect to Buyer’s application, product or system.
Buyer shall take application responsibility in all cases.

NEVER USE THE PRODUCT FOR AN APPLICATION INVOLVING SERIOUS
RISK TO LIFE OR PROPERTY WITHOUT ENSURING THAT THE SYSTEM
AS AWHOLE HAS BEEN DESIGNED TO ADDRESS THE RISKS, AND THAT
THE OMRON PRODUCT(S) IS PROPERLY RATED AND INSTALLED FOR
THE INTENDED USE WITHIN THE OVERALL EQUIPMENT OR SYSTEM.

OMRON Corporation (Manufacturer)
Shiokoji Horikawa, Shimogyo-ku, Kyoto, 600-8530 JAPAN

Contact: www.ia.omron.com

Regional Headquarters

B OMRON EUROPE B.V. (Importer in EU)
Wegalaan 67-69, 2132 JD Hoofddorp
The Netherlands
Tel: (31)2356-81-300/Fax: (31)2356-81-388

Il OMRON ELECTRONICS LLC
2895 Greenspoint Parkway, Suite 200
Hoffman Estates, IL 60169 U.S.A.
Tel: (1) 847-843-7900/Fax: (1) 847-843-7787

Il OMRON ASIA PACIFIC PTE. LTD.
438B Alexandra Road, #08-01/02
Alexandra Technopark,

Singapore 119968
Tel: (65) 6835-3011/Fax: (65) 6835-3011

Il OMRON (CHINA) CO., LTD.
Room 2211, Bank of China Tower,
200 Yin Cheng Zhong Road,
PuDong New Area, Shanghai, 200120, China
Tel: (86) 21-6023-0333/Fax: (86) 21-5037-2388




